VI TMYRIDT YR YR nINI® nNoon WA AT TN MY DT

13.54
52b (xp awwr pon) 2 53b (7797 01D)

7,7 o727:070) 72 103 PHOR ‘N IYR PIRD NR ROLND KDY N 792 RIN NIPIN % NIROVD TR MNR NYRY 19 NINH ARNRY 1107 ANPY MR 11WURID AP DIV KD 7

L. Analysis of 22 mwn: N¥5N=>90RN or VI>NR’1 or MR D>INRN or VI>N¥YN, nothing after N¥5n is considered
a. Note: this is true whether with the same 021> and nn2’ or with 1 1’ and 2 mn
i.  Observation: this is contra 'Rty 13, who allows for 9n8n InR 98N with 2 brothers and 1 nna2; but not inverse
b.  Note: mwn could have also said D93 &2 InR PR (271 7aR’s version)
i.  However: the Rin was more concerned with the release of the nna’ (nx’on)
c.  37s observation (about 1o8p AWY) pon): this is per ™ (92 Poan PYITH PR); but per o'nan, N¥ON is not a closer
i.  Challenge: mwn can’t be per »™; in earlier clause (of 3 N1wN), VI>INRN requires NXHNY VI
ii.  But:if it were ™, once he gave a v3, 9081 should not be meaningful
1. Per: his ruling that once he gives a v3 to his nn1’, she is forever nMoR to him, per v. 1
2. Answer (?wN 77): 03 of a N1 is 132797; ¥™'s use of the verse is an RNINOR
3. Suppot from &n7772 021 is quoted as limiting our ruling to ", who equates nx¥n:may
(a) But: mnon maintain that actions after n¥'9n are meaningful
(b) 227 (himself): this is only if he was wTpn (after n¥'9n) as a wife; but if he did it as nna> —
meaningless
4.  Parallel xr>»12: if he gave n¥9n and then pw1Tp (1NRN)
(a) 227 if he gave it to her as mwR, requires a v3; if as MmN — no Vi needed
(b) 2por7 in any case, requires a V)
5. Anaylsis: of 727's opinion and that of nnon
(a) 9o 37:011 sees it like a case of working on 7¥’s property (who died) without knowing
(i) Challenge (7ax): in that case, he didn’t intend any 13p, unlike here (intended pna’ pap)
(b) »an: case is where he said Pn2 RN Y PWTPNN
(i) 227 sees RN as “riding” on the Np’1; once np>t is gone (via N¥'9n), MrN has no anchor
(ii) p’pom they are separate; had he given her 1nxn beforehand, it would be valid — same now
(c) &7 had he said "pn1> 1nRNa” all would agree that it is valid; here he said “pn1’ np>ra % »w7pnn”
(i) 227 holds np>r v, NHN erased it
(ii) ozpomr npr PR; had he made this statement beforehand, it would be valid — same now
(d) a227w 77 the problem here is n%10a n¥'Yn (had he done n¥Yn first, all agree anRn is invalid)
(i) 227 NS5 N¥on exempts all>InRnN can no longer be effective
(if) 2w n508 NN doesn’t exempt all > still room for 9nrn to be effective
(e) v~ "7 all agree that N5 n¥on doesn’t fully exempt; here dispute is if a *Rin is valid for nx5n
(i) 227NN is invalid; therefore, n¥'9n (done on condition which was unmet) still fully valid
(if) o’pomoRIN may be employed in n¥on
(f) ~2a7 all agree that a *&in is valid; they disagree if a 9193 'Rin is required or not
II. 7 mwn: examples of rules in 3 Nwn
a. If he did nrn to 2 mna), must give vi to bth and 1 nyon
b. If: he gave 1nxn to one and v to another, the IMMRNN NYYa requires YoM V)
c.  If:he gave nrn to one and had nxk»a with another, both need pv» and one nx'9n
d. If: he gave 1Rn to one and n¥on to another, the first one needs a v
i.  Note: this supports YR10W (NN} 77091 RY 030 NHY2Y PHN) and refutes o1 *1 (“don’t soil another’s cistern...”)
ii.  Block: it doesn’t state that he should give n¥'Yn; rather, if he gave n¥on...
e. If:he gave o2 to both, they both require nx'9n
i.  Observation: this seems to support 1”127, who says that n%10a n¥9n must be done by all brothers
1. Rejection: the plural “m>1x” here is generic, not specific
f.  If:he gave a va to one and had nr’a with another, she requires nx’>m o)
g. If:he gave a va to one and RN to another, she requires a V3 and nN¥Yn
h. If: he gave a v3 to one and n¥’%n to another, nothing counts after n¥’on
i.  Observation: again, seems to support YR1nw and refute qov 11 (as above, (e)
ii.  Rejection: as above — n¥9n here is not prescribed, rather it is described as having happened (T2y712)
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ML 1 nawn: pon->y5n, or Yon >9nkn, or VI>5HY3, or HYPa->5p1, or HYa >INRN, or VI Yon, nothing counts after n¥5n
a.  Whether: itis 1 n2 to 2 mn2 or 2 n1 with 1 nn
i.  Note: this works with 1nv '3, who regards entire “household” as “reduced” to 8% »ar»n
1. Teaching: that "na poamn pwITp PR
2. However: according to 5™ (all are still mn»> »2»n, except 90 and n¥vn themselves), should be
obvious that 5”na poain PWITH PR —no need to teach that nothing works after nx'9n
3. Defense: 9" could point out that there is no need for rn nwY Hva (with 2 o'N), since it is universally
accepted that Wk nwR1 pooIN PVITP PR, nonetheless, it taught it
(a) Rather: since it taught the release of 1 2> and 1 nn, taught also 2 mn1’ from 1 n;
(i) Then: in parallel, taught also 1 nn2’ from 2 pna
b.  Note: mwn could have also said D193 X2 INR PR (1M »7aR’s version)
i.  However: the Rin was more concerned with the release of the nna’ (nx2on)
IV. 1 mwn: yon=>mrn->01->931, or Hya>nrn->03->0¥Yn; nothing after n¥’Yn counts, at beginning, middle or end
a. However: n®>1is a “closer” if at beginning (first); if in the middle or at end, later actions count
i.  Understood: why we need to mention n¥'on followed by 7nxn
1. Teaching: that we aren’t 71 a case of RN after N¥Yn against MMRN before N¥Hn
ii. However: why the need to teach nx9n followed by vi?
iii. Counter: why is there a need to teach 5ya followed by 7nxn
1. We understand: why 03 1011 Yp1 is needed, X"T0 we are 13 a case of V3 after NR»a against V) before nx’a
(a) Rather: since we taught amrn NV Pon, we also taught RN NV Y2
(b) Similarly: since we taught v 1n) Yp3, he also taught V3 1 Yon
b.  Dissent: pnm "3 — both n%ya and n¥on, at any point in sequence, are closers
c.  An73x 3 opinions
i.  pm only n¥9nis always a “closer”, nR»1is only a “closer” at beginning
1. Reason: there is no reason to enact a n°1 of N¥9n before InKN as a precaution against 1RN INRY N¥OHN
(a) But: there is reason to make such a 17’1 in the case of nx’a
ii. 77 both are always closers
1. Reason: since n¥Yn is n"nn, all know;
(a) And: since nR>1 is Nn”nn, no reason to be 91 INRN IR IR’2 against MR’ INR IR
iii. D251y YN 1392 13 2oy KaN: neither is a “closer” unless it is done first
1. Reason: he agrees with 1117, and extends 17’1 to N¥’9N as a precaution against nx’a
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